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CLIENT SERVER COMPUTING

faqtFt-rssrq,Yzial
Time altowed zYzHoarl

lwfuarsi$':30
[Maximum Marks :30

zlc , 0)
Note:

(i,

wrl sw qfrqd t g sdrwa t aiqor t t

All Questions ore compulsory and each question is of I mark.

Eia) rnqroii d ararali ++ ffi t sin+ ,Tyral qru * r

Only English version is valid in case of dilference in both the languages.I

t. frqii+dlrqrfu+-flffirraffi+{+
taq emas.rs'+S t t
(a) ffi{nd+s,+qreqdtrr

(3qfiw-o+{r,

sIlEPq.fi?II*t qqgHr

W,dgks.q6t*crq+qrsrft

srrd rr+{ frsqdrr d vnfiro or<r

frq if t sh qr vdrqr dre rqRqET

tr
(a) srte rrd-r

(b) aqqrd{

(c) tzriq vA.

(d) {TdflqFdr

1. Which of the following items are not
necessary for clienUserver ?

(a) Assure that tools will connect
with middleware

(b) Understand the requirements

(c) Determine network bandwidth
capabilities

(d) Include the use of a file server

2. Which of the following is not a

possible kind of serner ?

(a) File server

O) Time server

(c) Database server

(d) Transaction servetr

(b)

(c)

(d)

(t) P.T.O.
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3. 3-ZT{r 3TrHffi{sr dF{
(a) ar*srq Ebt 3rrETFrfiil ,r1rm 14

rfgd6tEFilrFFrI r

(b) sqr orii +t ryrmr cr6n r

(c) ftrar sfu *afo s*r *r qfisnq

tttr r

(d) swtff qr+ r

4. qrrd {dT+'r ftrflqdr t
(a) +e ftnia 6t ir€ o.r{ st{ E{+i

ffiq{iqTrFFrr I

(b) fuil qs" sqrt s{ +effirie +t
irf6i6rrt EFFII I

(c) qr*efm'qr+artif +rrrdqa silT
rr+iH.qr*q{s-{ar r

(d) **oqrrwg{tgr5r{r1
hqmAr{iq[qEiqE6iFn I

s. Rpc $r yner fuqrtrqr fuqr qmr t z

(a) udr
(b) siTrFa

(c) (r) eil{ G) fil
(d) scriffiif t Et+ftT

6. g.rRPC qffirr +t snqerffir t
(a) qs'Hq de+qim cmq?rdr

{qK+frq
(b) wezfrtrrc
(c) Fi{qmrq
(d) sq+ft R$

7. frEr if t qil{-* qartzqqtwq $r sFKqfitr
(a) =ir cut ftrr{€
(b) oour irrrr€
(c) cUI iFIr{?
(d) qnil+{rr Frrga

(2\ 2128

Benefit of the three-tier architecture
is

(a) New modules can be built to
support specific business needs

(b) Performance improves for
complied SQL statements

(c) Result in a thinner and database
seryer

(d) All of the above

A characteristic of a file server

(a) Acts as a fat client and is shared
on a network.

(b) Acts as a fat client and is
limited to one PC.

(c) Manages file operations and
shared on a networt.

(d) Manages file operations and is
limited to one PC.

An RPC is initiated by the

(a) Serner

O) Client
(c) Both (a) and (b)
(d) None of above

An RPC application requires
(a) Specific protocol for client

seryer communication

O) Clientprcgram
(c) Serverprogram

(d) All of the above

Which is not the category of client
classification ?

(a) Non-GUI client
(b) OOUI client
(c) GUI client
(d) Applicafion client

aJ.

4.

5.

6.

7.
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8. qo,ffi{f, fosc to.s rrfrrnrfrr{if if
qfitq+{ of sqrdfur or$qwr qmr t r
(a) Til$
(b) fid,Cq
(c) wEE'rrtT{
(d) Br{l-ff {*

.... sEWrt#SHqil
Er6fu{ qk rfrE +c{ {-o, +cq+ q{ d
ffiTdrait r

(a) awefuvrmvdt
(b) T+r+{fFEq
(c) irilr{z *{{d{
(d) Twr sktzr+{ {*{

fiTq if t +t+-m firw*+ror rr+q rfi
oren t r
(a) t5,tc

(b) EII-.lt

(c) trq
(d) 6twr

RMI EET f{T qlq t
(a) fidcffuFeHtvn
(b) fidcttiilF+dldYrr
(c) filriztqst{++m
(d) fi*etrrsrffi${

tTq if t qir sr +{ zrq{ rflHffrit
vnfirot r
(a) drrd{frfi
(b) altfi tffilTu $il{ qn F*{ dq{
(c) CnwrfzHzr{
(d) fr wrrq*.rd sil{\'rv*{eT{

\r+. r+{fl'rq{ + +ia-S qcT q{ qr+
wmTiarr
(a) wrf+tq{
(b) kfi€il{r
(c) tzrls*.
(d) qtir+Pn frrc

10.

I l.

t2.

13.

(3) 212t

A scalable system can be altered to
accommodate changes in the arnount
of
(a) Users

(b) Resources

(c) Computing power
(d) All of the above

refers to computing
technologies in which the hardware
and software compone,nts ire
distributed ilcrioss a network.
(a) user and file server

O) user and systern

(c) client and server
(d) user and database seruer

Which of the following does not
refer to middleware ?
(a) COM O) Java

(c) DCOM (d) CORBA

RMI standards for -
(a) Remote Message lnvocation
(b) Remote Message lnitialization
(c) Reotote Method Invocation
(d) Remote Method Initialization

Which of the following includes in
3-tier architecture ?

(a) Three server layer
(b) A client and two server layer
(c) Three client layer
(d) Two client layers and one

sewer layer

A server cannot serve on which of the
following layer ?
(a) Client layer
(b) Business layer
(c) Database layer
(d) Application layer

8.

9.

10.

11.

12.

13.

P.T.O.

\
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14. \rdttzr+{ v*{frH + t ffi fuq
3ilffifrt?
(a) Hsr*til
o) +cr dtRf,r dfur
(c) tar m+Clr* Ffrfur
(d) sqtffi{tfr

15. MoM .orEnrqwrtr
(a) ++q sfrftFr*st+q
(b) firsr&rtflr+tstfu
(c) t+q mfuresfutrr++t
(d) ftffi++cefrftFr+sfirscr+{r

16. s+{ 3TriTE'r kw qr vqraur t
(a) wret*o
(b) drs
(c) Hs qs

(d) q{&sdr+.0

t7. +,E{Er v+r+frq orcrv{rir emrqa dqttr
(a) CPU
(b) t{gcN€ffit
(c) Brrfrff +di
(d) Eq+n{t+t'c1

w{acurwrtat r

(a) H:.0
(b) \rdfE€tm{q{frr
(c) tw os.x
(d) ryI
rar sdrqsrd{t, Eil

(a) o'$wrretVgrdilrt r

(b) uq*{rfrrrqqilr
(c) ss+ qrs orge qr*ixn |dd t
(d) sdrqrq<rqrflHdwrr

zo. Hrrp +r Eqre tl i. wr t z

18.

19.

(a) 20

(c) 80

(b) 70

(d) 2t

(4) 2128

A database server is responsible for
which of the following ?

(a) Database storage
(b) Data processing logic
(c) Data presentation logic
(d) All of the above

What is the full form of MOM ?

(a) Message Oriented Message

O) Middleware Orieirted Message
(c) Message Oriented Middleware
(d) MddlewareOrientedMiddleware

What is the example of server OS ?

(a) Client centic
(b) Dos
(c) Win 95

(d) NT Seryer4.0

What are the componants needed in
computing server ?

(a) CPU

O) Random Accss Memory
(c) Both ofthese
(d) None ofthe above

is a Non GUI client.
(a) Window 3.0
(b) Automatic Teller Machine
(c) Max OS.X
(d) Ubuntu

FAT Server is a server which
(a) is oonnected to nrmber of clisrts
O) Hi# processing power
(c) Has file allocation table
(d) Place morc functions on the

server

20. The default port address for HTTp is

14.

17.

15.

16.

18.

19.

(a) 20
(c) 80

(b) 70
(d) 2t
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2r. F*{3a 6i wr{€q{ +tq (sdr t t
(a) $-st
(b) fidS
(c) d.-qt€
(d) qtil+nr

22. FTq { t +tt-qr #'€+tq+€
qrfidffi{iifuR:q+{d sf-+€ffi
6i qf${kd orar t t
(a) \,ffiflTtsrq
(b) +rqr iqrq
(c) +tqrqfur(
(d) qftd+{H $fr-+€rm

23. ffir{€inqs'rsrtd rbtet, srd'd*
*{fl+{fiqfu sq +} gq+tffit st
qql tffifq 6i F+F ffii +1 3f,tcfr

vqr{q.rdrt r

(a) t'r+cutwrraffiE€ffirr
+t eilq{Tffir

(b) {-+ cul wr+rHqiffilT
+t eflqv{qtilrftT

(c) GUI iFtl{ffi
(d) ooul ftrr{?{t

24. acID *i rfirf, qrart
(a) ffi oift{€S, sniqtda-{,

qtfrttuA
(b) galtfir&, ffi, {dfq-&,

qtrcH
(c) \rqt$ffi 3{r{fre{H,

4frffi
(d) \'{$SolFsCd' {dfu*,

EdfrkA

2s. XATMI qr t r
(a)

(b)

(c)

(d)

fidt'ilfrcq{efd E"ra€
trwg+€RqffiflTdr<+€
+tq sfrfirq+6{d{t{
*+s sifirr+sg€{+{

2t2t

The server data held on the client is
called
(a) Cookie
(b) Resource

(c) Documeirt

(d) Application

Which of the following defines the
system level object framework in
Object Managernent Architecture ?

(a) ApplicationServices
(b) CORBA Services

(c) CORBA facilities
(d) Applicationobjects

Which is the tYPe of client that
provides folders, work atea and

associations that allow user to
personalize their desltoP ?

(a) Non GUI clie,ns that need

multitasking
(b) Non GUI clients that don't need

multitasking
(c) GUI clients

(d) OOUI clients

The term ACID denotes to

(a) AtomicityConsistency Isolation
DurabilitY

(b) Atomicity C-onorrency Int€gtty
Durability

(c) Accuracy Consistency Isolation
DurabilitY

(d) Accuracy Consistency Integity
DurabilitY

What is XATMI ?

(a) Remote procedure call interface

(b) Peer-to-Peer conversational
interface
Message-oriented interface

Process-oriented interfac e

(s)

21.

'r',

23.

25.

(c)

(d)

P.T.O.

24.
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26. +r{r *{ wfrq mrevdr qrfidffirif
qtzrq q{d 61qftfiftr€q.ror t
(a) qartm
(b) A+S qfia+qtffi

(c) sd{ sH€€
(d) ffir{{sil+€s

27 . wrtq s*r qrffisr or a5 vr+ d
fi$q {erfttd +'mr t s}rlftfu.qrtqdT
tr
(a) wr{€
(b) sd-{

(c) izq+
(d) dfr{

zB. frTH d t 6t{ * nqN'os qft q{s}€s
ffi'tl
(a) fimt<rdvn €Ht{firqkd{f,sr4

(b) *sq{qdr

(c) rF[.[, tiz[+tr, rP d'tefitt
(d) ar$q+{f'€wrafuec

FrH ii * 6t{ S rdrfrqrc d nRlir*
reTt t
(a) qkrmffir$e*1s{mr
o) ffir{dfiT{trrR
(c) q-ffiq
(d) u,;ivngtieq6

+trqr (coRBal qqE(fuqrqr{ etrgc
one +'dq { 'ilq a o,r{ oT or t r

(a) ( sfr+€rtffir
(b) ggasqsg5oa{eT5.{t

(c) {d{*tsql*arm
(d) wrradfrs\dn{tr

30.

(o 2l2t

In CORBA 3tier client seruer

architecture, tho middle tier

rcpres€nts

(a) View objects

O) I*gacY aPPlications

(c) Serrrer objects

(d) Client objects

In the client server architecture, the

component that processes the request

and sends the resPonse in

(a) Client

O) Server

(c) Ngtwork

(d) Process

Which of the following refers as

extended senrioes of OS ?

(a) Synchronization & Pre-emptive
multitasking

O) Thread capable

(c) Time, Database, TP monitoring

(d) High perforrnance file sYstem

Which is not the Anatomy of a serrrer
program ?

(a) Se,r:re multiple clients

O) Wait for client

(c) Multitasking

(d) Congestion in network

serves as the glue between
CORBA object imple,rnentations and

the ORB itself.

(a) The Object Adapter

O) Dynamic Skeleton interface

(c) Se,nrer Process activation

(d) Client process activation

27.

29.

30.
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CLIENT SERVER COMPUTING

1ufumrEi6:70
[Maximum Marks: 70

ab' O
Note:

(ii)

yqqyqr qWt Yiq'C C ffi qfqnrtrr#H I

Question No. 1 is compukory, answer anyfive questionsfrom the remaining.

s+6 sfr # prf' ci,rfi d frcilTqr+-mr de7 dfqq t

Salve all parts of a question cottecutively together'

vg697;lzilrqq!w€niwffi ,

Start each question on afresh page.

qtit qrrre,I # -ran ati 6? ffi t lid* sqqq 6? qa t t

only Englishversion is valid in case of dffirence in both the langtnges.
(iv)

l. (i) #qv*rwrtt
What is Database Server ?

(ii) smrtaffid(o,qfrt+tqfr'+tqrfefuq t

Write the definition of Clie'nt/Server computing'

(iii) vd{ os +'Tqrflur frfee t

Write examPles of Server OS.

(iv) DcoMdqfunkdefrfrq t

Define DCOM.

(v) W-arts*{nlt?
What is grouPware server ?

FTE{ii drrolfrq:
Differentiate between the following :

(i) qi*+tffirctr{*{t
2Tier V/s 3 tier

2.

(2x5)

(7) P.T.O.

-\-__

P \tt l'-ll

282t
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(ii) *.q.qr$. r+rq ofi.et.tint
GUI V/s OOUI (6+0 j

3. qflrfu {d'{ os et uqlE{ur {kd fuRn t srygr{+ I

Explain in detail Client Server OS with examples. (6+6)

4. (i) €rr.+.{fr. s}ftr€R+sas6} I

Explain RPC indetail.

(ii) u*{#Rffi +t qRUn g qq-s6{ I

Explain the concept of server scalability. (6+6)

s. (i) coBRA tsr.iidsrrsr{+ r

Explain COBRA Services.

(iD tardre *awrra*i sq-sr{+ ;

Explain Fat Servers and Fat CliEnts. (C6)

6. (i) endeqa*qqaE {d{dr qRrn 6i qren{E r

Explain the concept of Object Server and Wob Server.

(ii) ffir$a Fdr w{i wr t r
What is client server internet ? (6+6)

7. (i) qFilhrr ffi'r Eu{hr *t qrsrqq r

Explain Application Programming Interface.

(ii) MoM *rnpc it ddrsflfrq I

Differatiate between MOM and RpC. (6+6)

8. ftq qr ftsqtnfi ftfug ,

Write a short notes on :
(i) trw-g-+fi$sr{w

Peer-to-peer communication

(iD EHrt€ rdr
Intergalatic clienUserver

(iiil tft.q.er6. ffir{u
GUI clients (+4+4)


